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QUESTION 1

Given the code fragment:

public class CreateArrayListExample {
public static void main(String[] args) {
List vegetahles = new ArrayList<>():
vegetables.add("Kale");
vegetables.add(0, "Lettuce");
System.out.println(vegetables);
List fish = new ArrayList<»();
fish.add("Salmon");
fish.add|0, "Seabass");
System.out.println(£fish);

What is the result?

A. [Lettuce, Kale]

B. A compilation error is thrown.

C. [Lettuce, Kale] [Seabass, Salmon]
D. [Kale, Lettuce] [Salmon, Seabass]

Correct Answer: C

QUESTION 2

Given:

var data = new ArrayList();
data.add("Peter");
data.add(30);
data.add("Market Road");
data.set(1, 25);
data.remove(2);

data.set(3, 1000L);
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System.out.print(data);

What is the output?

A. [Market Road, 1000]

B. [Peter, 30,

C. [Peter, 25,

Market Road]

null, 1000]

D. An exception is thrown at run time.

Correct Answer: D

Console 1

at
at
at
at
at
at

IException in thread "main” java.lang.IndexOutOfBoundsException: Index 3 out of bounds for length 2

java.base/jdk.internal .util .Preconditions.out0fBounds (Preconditions.javaz64d)
java.base/jdk.internal .util .Preconditions.outOfBoundaCheckIndex(Preconditions.java:70)
java.base/jdk.internal.util.Preconditions.checkIndex(Preconditions.java:248)
java.base/java.util.Objects.checkIndex(Objects. java:372)

java.base/java.util .ArrayList.set(ArrayList.java:472)

abec.main(abe.java:z:13)

Completed with exit code: 1

QUESTION 3

Which two var declarations are correct? (Choose two.)

A. var names = new ArrayList();

B. var _ =100;

C. var var = "hello";

D. vary = null;

E. var a;

Correct Answer: AC

QUESTION 4

Given this enum declaration:

1. enum
2. A,
3.

4.1

2lphabet {
B, C
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Examine this code:

System.out.printin(Alphabet.getFirstLetter());

What code should be written at line 3 to make this code print A?

A. final String getFirstLetter() { return A.toString(); }

B. static String getFirstLetter() { return Alphabet.values()[1].toString(); }
C. static String getFirstLetter() { return A.toString(); }

D. String getFirstLetter() { return A.toString(); }

Correct Answer: C

QUESTION 5
Given: What action ensures successful compilation?

enum Color implements Serializable {
R{1l}), G(2), B(3);

int c;

puklic Coloxr{int c) |
this. = e;

}

A. Replace public Color(int c) with private Color(int c).

B. Replace int c¢; with private int c;.

C. Replace int c; with private final int c;.

D. Replace enum Color implements Serializable with public enum Color.
E. Replace enum Color with public enum Color.

Correct Answer: A
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2 import java.io.*:
i import java.util.*:
4 clase Hello {

enum Color implements Serializable {
R{1), G(2), B(3);

g int o:
10 private Color (int o) {
n i B this.c = ¢
S }
1
14 '}
QUESTION 6

Given:

public static void main(String[] args) {
try (Reader readerl new FileReader (“Filel.txt”);
Reader reader?2 = new FileReader (“File2.txt"”):
Reader reader3 = new FileReader (“File3 txt”)) {

} catch (IOE=xception ex) |

Logger.getLogger (Main.class.getName () )} . log (Level.SEVERE, null, ex);
H
// Line 1
System.ocut.println (“Done”) ;

}
When run and all three files exist, what is the state of each reader on Line 1?
A. All three readers are still open.
B. All three readers have been closed.
C. The compilation fails.
D. Only readerl has been closed.

Correct Answer: C

QUESTION 7

Which two statements independently compile? (Choose two.)

A. List
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